
HINDI

Paper 2

(Two Hours)

"il:nge.rs to this paper must be written on the paper provided separately.

You will NOT be allowed to write during thefirst 15 minutes.

This time is to be spent in reading the question paper.

fien at the head of this paper is the time allowed for writing the answers.

Answer five questions from three boolcs only.

wlsvler at least one questionfrom each of the three bool<s you have chosen.
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iiwvsded marks for questions or parts of questions are given in brackets [ ].
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tfor extract given below and answer in Hindi the questions (i) to (iv) that
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Question 2

Read the extract given below and answer in Hindi the questions (i) to (iv) that
follow:

fr+€-( qrdq q{' rfiE + qrs 3Tr 5-+ | 31-3M t s'd-i qqr fr 45 qffi fr AFT;
*.{ T€ qR 3TrqI fr' qEi q+' qstflq H*{ qftR A I rfrE + ffii t Tdr Tdt gq a q:
qP-e{ qr qgq fr qt I qFet da qT, ger rfr T€t qr, Ah-{ dan w t qg sT lpqr
qFrt €ri + 'nil erwr rr6Fr rqdT PT I

(r) qX 6l qhcn qR-{q ?t ge q€ qtrr{q fu sq-dr qkt sEi 3iR fim er+en t R?t?r
+?():

(ii) dq.+ ffi t v-cm Xod gq qT ; qftel t +t{ qgqr, qEf BE+ cF +r s?eq qI
zTr ?

1iii1 'ts-sR ,rt fr q1 mT gm-qrr qFE-{ *i + ilt 3ren q6r"r KqflT zIT" rr{ist 6-T qtzi

eqfllEt I

(rg FEffi + s?eq q') RAq t frRqq r

Question 3

Read the extract given below and answer in Hindi the questions (i) to (iv) that
follow:

3rfr 3rTq-i qqR q-fr t<qr, W eEqri + frq s-€R t (?{ra rfr B r 3TIq tt qEi ffi
o-r € B, qs t-qT qt' .n frqn +lFq , *.X 3rirdt q€ HqR n ogo F+ a+ €fl A I
3Tfr t 3r-c rt6 qd 3lR verf,r uRq sti fr q.ri $-fi t 3rTcdr FreTr + frqI t-6 eTki
r-& drrT I

(r) t qkri B-R qdifd s-t+ sfr nfr e ? EH-S fid e-fiT sl 3rsr+ wr ? ?

(ii) cq-f-tr 3tzkRnT Fd t ftqr rrqr 3 ? efl 3r{crrut 4'I e{Fr ws-e +1fr} |

1rrr) taT ud fl sr6 Efr .ldqr qT {df e 3ili qC ?

(rO qs 6-dr* * qrsqq t a€-d qqi qad +l wr qteT ?qT sr6-dT B ?

-: rl€fl-Ffr :-

Question 4

Read the extract given'below and answer in Hindi the questions (i) to (iv) that
follow:

Htrcq I sqm +t qflr aef go +t go o-t fr fi, q-q-4-vs;uT t q3-q3 sqer-q?lFl s-{
sr& A, qd n-+ fr- erg<rc ?rffrfi silfr fr 'ft 

qE t grorg +sT A I

(r) qrtrcq yFE {-t qd Rfuq *t qa 
'ft ws-c 6Rq fr 3q} sqrq +1 frt eqrhd Bql
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W $'Fir qrq t frq+ or flr 3TIsIq ? ? et .Trfr fr Ffri frs q+n qrnR-d fuqr

t '
?.p6 llig-€rs B-s .no t RqT rsT B 'qs t craF qffr ?" qfflist * qrq d wue'

illffir

ryry rEiFEr g q<Fud qr6 + qlurr tr ftrc-d 
"o1 

vr6di dr wr q-Aqr t{r qrf,dr

f r ;

b *nract gi'en below and answer in Hindi the questions (i) to (iv) that

r 4E 5f i dr-ar qr fr gm-rr qndT fi 
--fi 

| gk, frtfi, qRRqft i eqw

MF =.-^=-pTftfr 3irft (siT ffi i erfr q-{5,} sT sst 3qUd vq-{q qT I

qp@r ra Atrd wdl rpn A 3fu dl ?

*E*e= ed + scTfi sd frRqq -

l lMl s=

iffi3l sil-

Uf' l  -  - : - -cF

tffi, @;

m ffirp+ Tl e<$ ?t g< 3-q' qe{T 6r sFfr{q +tfrq FKri 3TruR qr temq '!Tr{'
ffir q"ryr * sq'q <erfr sIR-g{ |

wmr i=_$ + q:{t (-{uT frq qT{fiq +dT fr F-sqrT t ? Eq-fr {r4 fr q-6 ?ft qdr{q

# 71p :?-i t +ffi tn mt-otq 'Pfi FrrA s'Kq sq-FI eqRd-cq eroq fr HE'FdT

$s

" - exrract given below and answer in Hindi the questions (i) to (iv) that

frir ?57. E-i +61, E-{ 3Tf4M 3irl-r ar nTq "FT Hk|?u ffi-q-Fffi htrrq-{ fr qT.T fr-S

qF ms= *s+l ?, F gt F-dt rFqT A 3il{ df ?

mmm *h ?fl.ra + fi-q fisr sq;u A ? a<e-+' dr qfr{l irn +t g3{r ?
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w wrs ?;F- cT6 t ftqT rrrn A ? q|-6 * iRqq dr ssa ffiq I
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Question 7

Read the extract given below and answer in Ilindi the questions (i) to (iv) that

follow:

qTdlfi {nqq t-d 
qt fi ilis gF 3+t fi ' T ts' 

'tc-t{ t tr oq ?r{rrirs 4t

(s-fi fi Tfi a t" fra ffi gq m-fi, '?(aI m, ft fra ry5-fltfq,l 3 qsfr 3iri 'Tr{

A-{-dfr+, 3Tl-(f, s't d vrq rai qr fr qor qd-dr ? l"

(r) qt m il{tr g6l-q frqsT d g+r qr 3lR df ?

(u) qlilfi frq'ffi +t il-tfs s-{ {fi fi ? E-o F ff+t rft ? oa 3-'? 6Ei t Frfr 'Pft ? 3i{+1

ssrgr 4r mnq e-crEt I

(iii) sq-dffi 3lZrfltnr fr 3TruR qr utfffi ftt qrRFd FM qf,Fq I

(19 3TRd +1 {nqqlT qc dfrq t l-oRT slfdq l

Question 8

Read the extract given below and answer in Hindi the questions (i) to (iv) that

follow:

i }+}qqg-{-6-{ .q1qp1q,f f f rdfnfr€+qrqqccdfrqr€ats
qR frf,r a Tft 3-{-fr E-drr it qa .TH 3-6r fr ia fi Fr-?lfr * srq 116 Rfiq]g 6-rT1 3fud

Tfi A r qln qfi iTH it s.d t fr xrtr 3irr t e_{+t qifi A 
"oq 

trurc q-{-c 6ri gS

frql

(r?-I 'srqorsf i { f t "s+frqA?s{+srqqcrcf f i+tqqtrTdrA3iR4i f?

( i i ) i }+Rf lYlc i t iqrqrcrqdls{-+tFa+t)Ff f i+trqqtMafrqR-qeT
qt 6-{ Rqr I

(iii) qqRTqfi 3lqi ila * swqf, qfu + fte iltrtf, dr{ sFdd frnfq Ai n sq'f gq

3T?rdr r€t ? qR {fr, fr di ?

(19 3c$ffi 3lqil{ur * 3ilil-{ q{ qrrlnrrl' fr all=* or quh dfiq I

Question 9

Read the extract given below andanswerinHindi thequest ions( i ) to( iv) that

follow:

ftt i 3{fud t dr€ orf, {fi fr sfn gq-drq ar'rt qfr rrft
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mtl t {i: --r* 17ft-il dl-ft d s& r gq+ E-fl t +a fi-.sr s1gar 3-&, Frt :rq n-+ cqr}

mn q[

1ill11 flltri' F- =?Eq til g< r15 qil-{q fr 3€-i try1' +1 gvrsl t flI s-6t 3fo{ sfr ?

,111111i ,ffiinr - :c-f,{ tfi-1' +t +ffi ER-il nT-S A s& ?

F =-; i +H fi-sj es d'ff ? qa qq q+er s& *{ di ?

;- ;+esT o-r qui{ +tRq I

-: llr*iff tiqq :-

illillhruururo tre 3\tract given below and answer in Hindi the questions (i) to (iv) that

,lttmtililhnu,

nF 
--+ 

5.r 5-s yrur td{ rft Ru .F-{i ft} AqR {6t B, q+. qqq qrdT ?, os qB

mmr s-"'r* = 
-s 

ts--fr q[-d] d gqt* *d-I{ s-{ ail A I

il1u r:T- =-;q fr;gi, Es..S *{ frs 3IZRR q{ fi-6r ?

rlllllrr : "Tl*=:- ;q qer+t t ft Trft B ? '?q 3--fr qdi +1gq_aq (ft-{T{ s-{ at d" qr{qieT

= --r =-r dfrq I

a;*-'r- F Tgl-+t fr qrsqq t 3rqi qrs+1 s] wT qavt tn qraat ? ?

-'r- + =Ri{fi R-dsr-drc} ql d*q il c-"ils dRq I

t4l

t4l

t4l

t4l

ilmllil ---

llllllllllllllrr :1

llllhll'llrulrd

rttmrniiill[mrn
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;rtract eiven below and answer in Hindi the questions (i) to (iv) that

r : . : - ; -  gqqFr-E- iT+ 3i lRA t3Tqisrr+t3Tlqr6} f rq cAi t { i  lsR-f , r

iirni;",- lp " .- i rad aq Eq qq.S gtf W f-qlg +t {Grl-qdrfiT fr FzTrtrd c-fr Ai il |

illlltil ; :r-=;- tffiA, F fft, fr-q q{s{ T{ 6-& A *{ d ?

lllrlilll, =F- 7- o.|erw cR-qq frRq I

lulrut '.n-F- * 3?gq r{ €*c t trflsr gtftq I

11piir :; ;-=-+.d + 3m fr" q14q * qn dT wfltEt I
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Question 12

Read the extract given below and answer in Hindi the questions (i) to (iv) that

follow:

q 3Trq-dT 3rf,l<r 3rTqTtf i ercrr-n 3nqTt | ilq freqq {Gi r fi fi q=r

t Rrii + 3TDtmrt +t rerT 6t{T I qBdr}ir + 3Tffi trT 5flS d.am re{fi s*$t q-dqt,q

B-ffii t fr-fr q-q{ q 3ilhr I

(t A:r frqqT qTETtr B 3fu qA ?

(ii) +Rtt tr-t Ekr-ftroT qdq t +lfrq I

(rii) wEffi qEI-(EUs FEi t frqr rrqr A ? tc-n Evt an wil ft-d{T qI6-dT B I

(rg qsT-+t + qtfr 6 qirf+-dl !-i q*c t s-+-m stftq I sfl{ 'fq 
qRo* t 3Tf*6 r-fr

gql aft< I

-: tF'lat-SFI :-

Question 13

Read the extract given below and answer in Hindi the questions (i) to (iv) that

follow:

gq q-{ rt-or q;r 3Tfu{lqf, fr,

gqdmfrqA.FA*T I

3ilm ft-grqr .rt A-& -
qd {rq gEET-tT A 3rm"i I

eqf, si-{f,{ur tr-di t frqr rrqr B ?

wr rfur R +-a Tqr A *i dt ?

ffiR{-d vrdif A BTPf frfuq :-

(1) 3if*{rqff'

(2) 3rd\T

(3) wi-rTuT-sq

(4) ft-dlq-{ |

€ff fifuf,r +,1 +frq qq frR{q I

14

t4

[4

t4l

(t
(ii)

(nl)

l) i

t4i

l

I4

td(v)



di"friTrrf,t slr'en below and answer in Hindi the questions (i) to (iv) that

mffit wt fr-r= 
"d 

q rfr l
ap1ffimp f ;- ffir €r{ qn o-tr I

nrn' fu p- t drlrf, Efi q< qkfi qff I

ffitt Efum." T* 
-€ 

qr;ra fq-q 6-{f, <+tf I
.Imfi ;*rfuf =5. 

-T{ 
F€Frf,, ffi +t 9{tr I

m sntr d rs g+ qc{ €, trm rrq rtr I

m qreir =. Yg +€Fk[, W g frft ffif l
* sffi +TET{ 61Rq fi q-{ qn et | |

ffi" m l-ri 3r-irp q{ q'o c ti +f vnftr 4T T6t a *. sfr ?

:mil rre; =- 3Rf frftq *r qa {t tqse +1Rq fr EH+ {r.T R-d-i i eTE frq', i

mfu=:+rq-6$7

:lsrrkrmn :-e ET sqg6 3T.f frRqq fir qa fi q*dqq fr Rffi+ Errdrdrt t ShuT Tfr lTfr
---"..-ri" -+- -+r )
Liltllltllr'll.] } . +u

6 rfu: i qqm' qqc{ft' spq + 3{rf dt {g q,kfl * 3il'trrc tR rq\a +1R\ I

15

1ftr ;rtract given below and answer in Hindi the questions (i) to (iv) that

=-:=-; ?lqT WII "il-ll' i

- -)- --:- -a-- ^f f i  - '  . l  cn ql t l  y t . ]  |  :

r[=-:- i drfl'g--i
- -:: -----3--0F cf t  (q1 Yt i l . l  t  I

ed r mtqT frqT 6trTI -

i q--qq I qg ;6p6q g;fi

go fi ql qs mrm rd E-{ |

--:=r fi+r ryr fin, m-q n-d rq + 3fq q-+t' ? cfril +1 qr{d{I +lfrq I

=:-=T'+-r 3t-,f ftftq *r qa rft qnrqq fr Tgi q-qq'+1 s{fr n qqr dFT-EF frql
*"

":-=;-q-q=i +-r gd ftrc-f,i q-d-Eq fr trh {fi pi"q ,i an qil FFT 4561 p i

- --a,- - --aa,-

-  

$ iq( l l  chl  gevq tYuc cFi lut \ r ,  I
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